
Day 2: KAIST Contest + KOI TST 2021, Grand Prix of Daejeon
42nd Petrozavodsk Programming Camp, Winter 2022, Wednesday, February 2, 2022

Problem I. Streetlights
Input file: standard input
Output file: standard output
Time limit: 5 seconds
Memory limit: 1024 mebibytes

There are N streetlights along the straight road. The initial height of the i-th streetlight is a positive
integer Ai (1 ≤ i ≤ N).

You are trying to install an electric wire between two streetlights. To install an electric wire between the
streetlights i and j(> i), the following conditions must be satisfied:

• Ai = Aj ,

• For every i < k < j, Ak < Ai.

The city may adjust the height of a streetlight Q times. Each adjustment is given as a pair of positive
integers (x, h), which indicates that the height of x-th streetlight was adjusted to h. In other words,
Ax = h.

Before the updates, and also after each update, find the number of pairs 1 ≤ i < j ≤ N such that you
can install an electric wire between streetlights i and j.

Input
The first line contains two integers N and Q (2 ≤ N ≤ 100 000, 1 ≤ Q ≤ 250 000).

The next line contains N integers A1, A2, . . . , AN (1 ≤ Ai ≤ 109).

Each of the next Q lines contains two integers x and h, denoting that Ax = h after the query (1 ≤ x ≤ N ,
1 ≤ h ≤ 109). It is guaranteed that h is different from the height of the x-th streetlight immediately prior
to the requested update.

Output
Output Q + 1 lines. On the i-th line (1 ≤ i ≤ Q + 1), output the number of pairs you can install an
electric wire between after processing the first i− 1 update queries.

Example
standard input standard output
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